- .'R Replaces Toro Groundsmaster 3320

Proﬁtfi Parts

-’ Pneumatic Seat Suspension - Model 30313

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




Item R&R
No Part No.

OEM
Part No.

Replaces Toro Groundsmaster 3320

Parts
Pneumatic Seat Suspension - Model 30313

Description

Qty Order
Req Quantity

Other Parts Available

1

R108-1695

108-1695

Air Ride Suspension - Seat

R150224

106-7847 & 107-7959,

107-7959,

119-0654 & 119-0655,

133-8896,

192-8990 & 92-8991,

92-8990,

92-8990/92-8991,

92-8991

Adjusters - Seat (Set of 2)

R108-6590-03

108-6590-03

Seat Bracket - Lower

R104-8300

104-8300,
104-8300,
119-4041

Locknut - 5/16-18 Flanged Y/Zinc

12

R3234-5

3234-5,
62-3310

Bolt - 5/16-18%x3/4 Hx Ser Was HD

R453009

01-166-0400,
24-10-BD,
24-9-AD,
32-9650,
3256-2,
3256-23,
3256-3,
3256-67,
3290-217,
3556-3,
4-2390,
7-0152

Washer - Flat 5/16 SAE

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




Parts
w’ Pneumatic Seat Suspension - Model 30313

)H‘ E'; Replaces Toro Groundsmaster 3320

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

01-166-0100,
01-166-0120,
01-166-0270,
01-166-0500,
01-166-0600,
01-166-0620,
132-4593,
2356-3,
237-12,
24-10-AD,
24-11-AD,
24-11-BD,

6 R453011 24-12-AD, Washer - Flat 3/8 SAE Y/Zinc 4
24-12-BD,
30-9310,
32-8190,
3256-24,
3256-3,
3256-36,
3256-4,
453011,
47-9950,
48-9220,
513458,
7-0052

3256-23,
6 R310266 3256-3, Washer - Flat 5/16 USS 4
3556-3

7 R150813 109101 Fuse - 20 Amp 1

01-178-0604,

8 R323-2 3739

Bolt - Hex HD 3/8-16 x 1 1

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




